EAGRAROBREERT — 2 N— IBISH —F

202156850 (+) 4m+=1H

4R e AN

CER) B

EEE IR e

[~E4] 1 7% :5,100,000 @ ~ 2 3% :2,000,000 @ ~ 33&:

1,300,000 § 4 & :770,000 @ 5 & :510,000 M

& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
R s N J I B :01. —5—4— . . ZHEME (ER)
i lsliol pLowsznTn # 3 L 2((2)3 5-5-4-3 | 34.9| 89.4 | 1 (4_516) e
LNnN—ErTv— B:hHLiHrhl)—+ HE77—»4L
. . : 4 3 | EEARK 2:01.6 9-9-8-6 |35.0| 86.3 | 2 482 | FEZE (ER)
Eﬂn YyNEZI—F 54.0 @ o) | B BrF-L—sry
LiXTHANAN By R J—HrTr—LA
3 . » it 3 | R 2:01.8 8-8-4-6 |35.2| 84.2 | 3 486 | HHIEE (RR)
37|14 a9 F YT * 56.0 (178 () |EEEE
v TNVRry b BivanFrI/ET RS
R “ 3 | KEELH 2:01.9 2-2-2-2 |35.8| 80.1 | 18 | 472 |ERF— (BR)
4817\ EH= RINY *50.0 @/8) o) |EEEE
L:Nn—E>Tv— BYUINEZR J=HTr—L
=, # 3 | ERH 2:02.0 15-14-11-11{ 35.0 | 82.2 | 11 448 | ALHEAN (FR)
5 12771 56.0 (7€) (+6) | AAMRER
R:UF>F4—X B:EI>F—L XF A
Sy N s 3 | BEXfE 2:02.1 1-1-1-1 | 36.1|77.2 | 7 468 | ZREETT (RR)
61715 hI7T5T1FLya 54.0 (172) (+4) | DMBESF
R:TFyI84F B:O-—I%2%—X J—HrIr—L
s K 4 3 | MEEZ 2:02.3 12-12-11-1135.4 | 79.1 | 10 470 | RZIUEERE (BR)
718l16| TA ¥ 1T Y 56.0 M D | wne
T4 >eh) B:Fa1-T7-~NILX FRAEW
N = ft 3 | AHER 2:02.5 5-7-8-9 |35.8| 75.8 | 13 | 492 |=HIAE (FR)
8 6 IIeTA X 54.0 (1 1/4) (=) EHHEE%
L:Z2bhOrF)a—> B:INTAY HBET7—L
SS7 L R 4 3 | BEREEN 2:02.6 17-17-17-17| 35.2 | 76.0 | 14 | 480 |BEEE— (EX)
9 g| 777> KU1 H 54.0 (3/4) (+) | 1EEE M
R:UF>F4—X B:74FA-42X TADAS
7 5 3 | REAR 2:02.6 12-14-15-15( 35.4 | 76.0 | 4 476 | ERAR= (ER)
100111172 —"7J A52.0 (74%) ) SREELER
L:¥XF BRXE—FTHT747 FRESS
= 4 3 | BEREX 2:02.7 12-11-8-9 | 35.9| 73.4 | 6 502 | BAYE (FH)
] 4| T F—2—F— 56.0 (7 o) |LERE
iE-UR B:val-4r2X filbabae]
> — 4 3 | SHEA 2:02.8 11-13-15-15| 35.6 | 74.0 | 8 442 | REERX (RR)
12012 V=2a17TI 54.0 (1/2) a) () ERA-AL—>> 7
R:N—vI54 B:H¥drpii () #8a—-FL—->a>@qE77
5 4 3 | AHEXM 2:02.9 5-5-4-6 | 36.3| 69.4 | 16 | 420 |MAK#K (R®)
13|59~ 74 A5170 1/2) o | B
LRy IALT BN —=N=2 HR& KMEXT-T
= s 3 | ARKLZ 2:03.0 9-9-11-11 | 36.0| 70.4 | 12 | 472 |#XkEE (EFR)
14f 5| 7 1T=F7UR 4530 (172) Lo | KERE
LW—5—9 7 B:F14>T7rVa EEREZ e ]
S LS 4 4 3 | BEHE—ER 2:03.8 3-3-3-3 |37.4| 62.0 | 5 470 | EEEHR (FR)
15\ 2 (13| YT ATy B .0 (5) Gy | B FITLET5T 5747
Libh—FK9Tvoh B:UMLITILY NEFE B
R S S : -17-18- =R (ER)
16 3| Yvqro-uzx L] i 2.(024).1 17-17-18-18| 36.2 | 60.9 | 17 (4_142) Es.
R:7F1+—=7TVIr 7 B:O-UI 22aA9 77— L
S f o3 | B2 2:04.9 3-3-4-5 |38.4| 53.5 | 15 | 448 |EKAF# (R®)
. BCE=Er &% & e |MEEA
A:Galileo £ :Turbulent Descent Orpendale/Chelsto
V= 4 3 | HALBAF 2:05.4 15-16-11-11{ 38.5 | 49.3 | 9 490 | FHEMS (EX)
18/ 8|18 Y77 Y- 56.0 3) +18) KEAE
LN=9774 B: 2 NT1—Ix J—YTr—L
@ 21 L
£y 47.2-35.3
NA> R4 L | 12.7-11.3-12.6-12.7-12.6-12.2-11.9-11.8-11.5-12.0
® I—F—&EBIERL
1a—74— (x15,17) (7,13) (6,10,9)14(5,11)2(1,16,4)-(12,18)-(3,8)
Aol=5"= 15,17-(7,13) (10,9)6,14(5,11)4,16,2(1,12)18-(3,8)
G=7"= (x15,17)13(7,10,14,9) (6,11,4) (5,16,12,18) (2,1)-8-3
41—F— 15,17(10,13)7(11,14,9) (6,4) (5,16,12,18) (2,1)8-3
[ N
B 10 330M 794K 10-11 260M e & 5-6 600 =R/ | 10-11-14 990M
BB 10 130M4 10-14 330M B E 10-11 670M 3EE | 10-11-14 4,260/
1 130H 11-14 350M B H 10-11 1,310
14 1509

ARICOVWTRDTEEERROODE. TR LIV,




